
HOU YI SOLUTION – OLD MAJOR 

 
Attacks eliminate the suns' entries, but they mostly have to be modified according to the individual suns' 
maneuvers before this can happen; the maneuvers given suggest how these work. Each sun will have one word 
left unattacked. 

 

 
 

The leftover word in each sun will each become a weapon if one of the other suns' maneuvers is applied. Use 
the center number in the new sun to index into the weapon, moving the weapon currently in that sun to the next 
appropriate one, etc., forming a chain: 
 

HUSH Caesar shift BOMB 2 O 

RAIN-FILLED Odd letters only RIFLE 4 L 

BORDEAUX Consonantcy BROADAXE 5 D 

PRISMATIC Transdeletion SCIMITAR 4 M 

BALANCE Bigram beheadment LANCE 2 A 

TWENTY-ONE Synonym BLACKJACK 6 J 

SOARED Homophone SWORD 3 O 

SCORPION No change SCORPION 4 R 

 
 
Starting point and direction must be determined. Indexed letters spell the answer OLD MAJOR. 

 


